i — hy |HhE i HnHxHE |EE =% s
=SFE 2 1{(BAN) 1 3A 2N 2N 6F—Ls
e 2 1 11 (+a) 3N 1+ BA)[2A 8F—L
lig=ak-d
%R
hEEFEHASHE (653/\—2)
\wi=D B OwvY
#ZEA  |hE —hy |=% HHE@A |FE BB [ER=%t#
#BA DA BA BA FHEHE A @A ®A
G ®B 3B i ©®B @B
—hy OB #iaB 2B
=% ER=%&t#
F—L A7 |[F—L |LT)— F—L A7 |F—L [LT)—
@ [9:45~  |#7BA — % FHEH 9:45~ |=ShY — [=% Lis
@ [10.05~ |#FHFEH —  |FE FiEA 10:05~ |#1i2B —  |Em=EEE
3 |10:25~ |#FiBA —  |=hY |#FHiEB 10:25~ |d&E —  [=£ iz
4 [10:45~ |#hFEH — |[#EB =% 10:45~ |#miE — |[Em=EE— H>
®) [11:05~ |#7;BA — [=% £ [ 11:.05~ |[d&E — |=hy [
® [11:25~ |#hFEHE — |[Em=sr#IEA 11:25~ |FhiE —  |&ms th&&
@ |11:50~ [A3%iL — |B3fi FEH 11:50~ [A4fL — [B4fi ¥15aB
1220~ [A1f — [Bifx =% 12:20~ [A2%1 — [B2fsL —hy
TFSTE—U4ELE)
12:40~ A VS B




